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1. (a) Find a general form for the solution of y
Y+HP(x)y=0(x) o (10%)
(b)If P(x)=-2x, Q(x) =x, find a complete solution of y (5%)
2. Consider one parameter family of curves |

X 4+2xy-y +4x—dy=c

where c is the parameter. Find the equatioh for orthogonal trajectories of this family.

- o (15%)
3. Find the general solution of the following equation:

xdy=[y+0A+0)lde=0 sy

4. Find the general solution of -

@ +11y® +36y"+16y'- 64y = -3¢ +2c05(2x)  (15%)

5. Find the general solution of

W (x+2)y+ y=0 | (15%)°

6. Solve the initial value problem by Laplace transform

y'+y=f(x), y0)=1,y'0)=0

(1, 0<x<xn2 .
Where J (%)= {sinx, ol (15%)
7. Find the general solution of
y'-3y+2y=x* | (10%)
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